
Unit 2 – Ch 5.2-5.3 
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ELECTRON CONFIGURATIONS OF IONS 

•  WHAT IS AN ION? 
–  CHARGED particle (Atom) 

•  HOW ARE IONS FORMED? 
–  GAINING OR LOSING electrons 

•  WHAT ARE THE TWO TYPES OF IONS? 
–  CATIONS (+) 
–  ANIONS (-) 

•  HOW ARE CATIONS AND ANIONS FORMED? 
–  CATIONS (+) à LOSE electrons 
–  ANIONS (-) à GAIN electrons 



v WHAT TYPES OF ATOMS GENERALLY FORM 
CATIONS AND ANIONS ? 

– CATIONS (+) formed by METALS 

• Found in “s” “p” “d” “f” blocks                   

– ANIONS (-) formed by NONMETALS 

• Found in “p” block ABOVE Metalloid Staircase 

ELECTRON CONFIGURATIONS OF IONS 





ISOELECTRONIC CONFIGURATIONS 

•  DEFINITION: Atoms or ions with SAME number of 
ELECTRONS 

–  Therefore, SAME electron configuration 

•  EX: (Mg2+) & (N3–) have same # of ELECTRONS 

–  Isoelectronic with NOBLE GAS à NEON (Atomic #10) 

•  In doing this, atoms achieve a FULL OCTET : (8 Valence e-) 

–  Results in CHEMICAL STABILITY ! 



• EX: Name IONS that are isoelectronic 
with NEON (Ne): 

–  N-3, O-2, F-1, Na+1, Mg+2, Al+3 

ISOELECTRONIC CONFIGURATIONS 



 
ISOELECTRONIC WITH NEON 

 N-3, O-2, F-1, Na+1, Mg+2, Al+3 
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ENERGY LEVEL 
IS COMPLETED 



• EX: Name IONS that are isoelectronic 
with ARGON (Ar): 

–  P-3, S-2, Cl-1, K+1, Ca+2 

ISOELECTRONIC CONFIGURATIONS 



ISOELECTRONIC WITH ARGON 
P-3, S-2, Cl-1, K+1, Ca+2 

 
 
                                       
                              
                       3p                 
     3s                                     
                       2p  
                                                     
      2s 
                                                1s2 2s2 2p6 3s23p6  
      1s                                        

THIRD  
ENERGY LEVEL 
IS COMPLETED 


